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1. Japanese Feudalism is considered a what?
a. Japan’s Coded Law System
b. Political Thought
c. Government Structure
d. Social Structure

2. What standard is associated with Japanese Feudalism?
a. C&G.1.3. 
b. C.1.3.
c. C&G.1.1.
d. C.1.2.

3. Japanese Feudalism is based on two ideas. What are those two ideas?
a. Land & Loyalty
b. Religious Principles
c. Liberty 
d. Equality 

4. Japanese Feudalism offered advantages & disadvantages for everyone in the population. Which of the following was an advantage & disadvantage of being a peasant?
a. Peasants were the highest class of people but they were often times hated by the rest of the classes of people
b. Peasants protected the other classes of people but they also died in battle
c. Members of the peasants could “graduate” to being Shoguns but they could never be an emperor 
d. Peasants were protected but they never received any freedom


5. The military leader in Japanese Feudalism is called what?
a. Emperor 
b. Shogun
c. Samurai 
d. Peasants 

6. What is the primary difference between Japanese Feudalism & the Roman Class system?
a. Feudalism is dependent on Land & Loyalty & the Roman Class system is based on what your parents do 
b. Feudalism is based on what your parents do and the Roman Class system is based on Land & Loyalty
c. Feudalism is a social structure that is led by all men & Roman Class system is divided into two classes of people called the Patricians & Plebeians  
d. Feudalism is based on Land & Loyalty and Roman Class system is divided into two classes of people called the Patricians & Plebeians

7. (E.1.1) What is the long-term affect of ancient trade routes?
a. Spread of religions throughout the trade routes
b. Spread of unifying systems of government
c. Colonization of weaker nations along trade routes
d. Use of silk throughout ancient & modern societies

8. Who actually had most of the power & control in the Japanese Feudal system?
a. Emperor 
b. Shogun 
c. Samurai 
d. Peasants 

9. In Japan there was a specific type of irrigation used to create more farmland to feed the people?
a. Qanat System
b. Chinampa 
c. Hydro Garden
d. Terrace Farming

10. What was the population breakdown in the Japanese Feudal social structure?
a. 90% peasant/5% Samurai/5% Shogun
b. 80% Samurai/20% Peasant
c. 90% Peasant/10% Everyone else 
d. 70% Peasant/20% Samurai/10% Everyone else



